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MATHEMATICS SSC-I
(For Hearing Impaired Children)

SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Sectlon-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

() Complete the formula a® —b* = (g +b)( ) :

A a+b B. a-b C. b+a D.
(if) 25 =_ .

A. 52 B. 28 C. 5 D.
(iii) 3Ix(10)° = )

A 30 B. 3 C. 0 D.

0

(iv) What is the order of matrix ]:2:| ?

A Tx2 B. 0x2 C. 2x1 D.
(v) How many lines can be drawn from one point?

A Unlimited B. 1 C. 2 D.
(vi) What is the conjugate of 7 437

A. -7+43 B -7-43 ¢ 7+43 D.
{vii) What is the sum of all internal angles of a triangle?

A. 180° B. 360° C. 90° D.
(i) (=2)° = .

A. -2° B. 2° C. 57 D
(ix) What is the degree of polynomial 9 xy?

A 4 B. 9 C. 2 D.

1
(x) Ifa=2—J§ than —=_ .
Q

A. 2+3 B. 2-3 C. 2443 D.
) @ +b =(a+b) )

A. a’—ab+b* B, a’*+ab+b* C. a’-ab-b* D
{xii) What is the characteristic of Log 3257

A 3 B. 0 C. 2 D.
xii)y  4x5°= .

A 4 B. 20 C. 1 D.
(xiv)  From two points, how many lines can be drawn?

A Two B. Three C. One D.
(xv) (a+b)a-b)=

A. @+ b’ B. a’ —b’ C. a’b? D.
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MATHEMATICS SSC-I Lf
(For Hearing Impaired Children)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION ~ B (Marks 36)
Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=136)

2 4 1
(i) Find the product of X

1
(ii} if P(x)=x"-3x +—2- then find the value of P(x) when x=0
(i) Wrrite the following in scientific Notation 5566000

1
(iv) Remove the radical sign from denominator T
v) Write in Exponential Form 5.P.P.P.P
(Vi)  Write in descending order 2y —4y +3-3y* +°

5

{vii) Simplify and write the answer in positive exponent {(x + y)o}
(vii)  Multiply (x+3)(x* —3x+9)
(ix) Wiite the following in Logarithmic form 7° =343
(%) Use the formula to find the product of (2a+ 2b)(2a — 2b)(4a® +4b%)

(xi) Add. x2—5x+4 , 1+2x+3x? , 3x—4-2x*

. 55 2 3 1 7 .
(xi) WA= B= and C= then find A+B+C
4 9 1 4 4 -3

2
(xii)  Simplify (125)3
(xiv)  Factorize 271" +1
(xv)  With the help of suitable formula find the value of (1005}

(xvi)  Subtract P =3x*+5x* +2x> —x from O =4x' +2x* + x* —x+1

’ 4
i Simoli i
{xvii) implify s

b a
(xviii)  Write down the number of rows and columns of the matrix { } Also write its order

c

SECTION — C (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)
Q.3  Construct an angle of 80° and then bisect it.

1
63

Q.4 Simpify | 122 5
216y

Q.5 Bisect the line-segment of 5.6 cm.

Q.6 Construct A ABC, when AB=3 cm, BC=4.5 cm and CA=6 cm
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